Figure 4F

LLOMe
10 min
LLOMe .
10 min §§§§
ICR=I
ey ESES
SRS SE¥8¥
] E xd E g n n nun
o o
o= 0.< W o W S — - —
BB B ®
S —— — - -
r—'_—_-_-_l- ——— -
1= RO "38-.—. !.gz

,.
|
|
|

Sewe Seew

g lkBo
phospho-lkBa
(S32)
it
52 phospho-IKKa/p s =
£ (S176/S180) £5Es
i 8383
| S
———
-

—

IKKa

OMVe

LLOMe s

10 min oty

G e

e caga

DiSe = = e &

TECEE S¥ s¥

SESE SxS¥

0OX0oX 2 = 2 =
- - - o iR =

Iy vy il

1 S - | [ p— ..

:

|
|
|
L

|
|

phospho-TAK1
(T184/187)

LLOM
10 min o
Btal . o 10 min
[ == -=1
£33 £33 e
SE8Y coLox
oXox £33
I | § 5
Bf =@ <
Rt 2% s

,.
"
|
i |
|.
|
\
i




